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The dog is hiding ________ the table.

Answer: ___________________

The lion is sleeping ________ the shade.

Answer: ___________________

The bird is flying ________ the sky.

Answer: ___________________

The monkey is swinging ________ the tree.

Answer: ___________________

The fish is swimming ________ the water.

Answer: ___________________

The rabbit is hopping ________ the grass.

Answer: ___________________

The turtle is hiding ________ its shell.

Answer: ___________________

The cat is sitting ________ the chair.

Answer: ___________________

The horse is running ________ the field.

Answer: ___________________

The snake is slithering ________ the ground.

Answer: ___________________



Answers

The dog is hiding ________ the table.

Answer: under

The lion is sleeping ________ the shade.

Answer: in

The bird is flying ________ the sky.

Answer: in

The monkey is swinging ________ the tree.

Answer: from

The fish is swimming ________ the water.

Answer: in

The rabbit is hopping ________ the grass.

Answer: through

The turtle is hiding ________ its shell.

Answer: in

The cat is sitting ________ the chair.

Answer: on

The horse is running ________ the field.

Answer: in

The snake is slithering ________ the ground.

Answer: along


